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Multiplying Polynomials/Factoring Bootcamp 2



Consider the following functions:

a(x)=-2x b(x)=x>-3x-5

c(x)=3x" +5x° d(x)=2x"-x

Mulftiply then simplify.

a) a(x)b(x)
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Consider the following functions:

a(x)=-2x b(x)=x>-3x-5

c(x)=3x" +5x° d(x)=2x"-x

Mulftiply then simplify.
b) b(x)+a(x)d(x)
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Consider the following functions:

a(x)=-2x b(x)=x>-3x-5

c(x)=3x" +5x° d(x)=2x"-x

Mulftiply then simplify.
c) a(x)c(x) /_\ U >
. +SY)
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Consider the following functions: a+ b§ :): d- 5 b.)

a(x)=-2x b(x)=x"-3x-5
c(x)=3x'+5x* d(x)=2x*-x (34,); 13
Mulftiply then simplify. L’] :F )D
d) [c(x)F
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Consider the following functions:

a(x)=-2x b(x)=x>-3x-5

c(x)=3x" +5x° d(x)=2x"-x

Mulftiply then simplify. e
e) b(yd() ()(-3>><~ S) (97( "A
5. X—?)X ""S- \_‘ 3 2
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Consider the following functions:

a(x)=-2x b(x)=x>-3x-5
c(x)=3x" +5x° d(x)=2x"-x

Multiply then Simplify

f) b(x)e(x) )( ) )
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Review: Factor co

mpletely.

x'- -3x-10 c) 9x* +12x+4

CX ,5)[)44-3‘) (X () (Or+f 24+ 1)
d) 2x*+32 L_Bh_l_6__48_’ f)_gﬁxz-:z_.r_-i_
20XCH1C) | o sy ¥ 21
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Perfect Cubes

i 2'7
4 = 6({
5= 2SS
6= 21




Sum/Difference of Cubes

@ +b' = (a+b) (- @b+ b)

a’-b’ = (a-lb(o?mm b”)



Remembering the SIGNS in the Cubes Formula

(b= (e Wf—ab*b’% SOAP

S - same sign
O - opposite sign

AP - always positive



3 - § 5U&P
g a2t =(xx 3)(X- 3%+ 9)
Q=X

o5 -8 = (x=a(W+ Ax + Y)

a= X
b= 2



Fac

tor completely.
c) 64-x
X

a=
b=X
d 8x +125
Q=X
D=S

(-x)(074% + )

i _@; b‘j

(e Y- 10X+ 25



Factor completely.

9 125x°-27= (5= ) ASKr 5 + 0)

a = ¥
b=23

7 24x° 43
3(%%4’4-0 = 3(fx s I\(Llf—o’{xﬂ\

ax

b=



Quadratic Form

2n

ax"" +bx" +c¢



Factor completely.

a) x3+;x+10
(X+5)<x + )\3

b) x*+7x +10

&)+ 2)




Factor completely.

b) ¥ oxto12 = (X=9(L+)

(XD (x+)(x13)

@) x* —&xz -15 = ()(1" ‘5)({* 3)



Factor completely.

o x-a-a (M- X+ tj
(X-D(x+ (K ¥ 1)

4 /2 *
9 2x' + 70 +6 (X % i.,_ ; )
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Factor completely.

e 2x°+8x° -10x= Jy ()(q+ lel—5>

CENICTIY
Ax (X=D[x+ D (x*+5 )

n 8x°=5x>-3



Factor completely.

916x* =24x* +9

m 16x* -=30x* +9
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